

Jackson County Fair

Monday, July 31, 2017

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|-------------------|------------------|----------|------------|-----------------------------------|-----------------|---------------|
| - Market | Rabb | it 137 reco | ords | | | | | , |
| 1 | | Brooklyn Frisby | Grand Champion | 7.9 | \$800.00 | Papa John's of Jackson | \$400.00 | |
| 1 | | Brooklyn Frisby | Grand Champion | 7.9 | \$800.00 | EMZCO Inc. | \$400.00 | |
| 2 | | Ava Sheeter | Reserve Champion | 9.86 | \$800.00 | OVB | \$800.00 | |
| 3 | | Jillian Evans | Overall Showman | 8.36 | \$600.00 | University of Rio Grande | \$600.00 | |
| 4 | | Makenzie Collins | 3rd Overall | 7.78 | \$425.00 | KFC Oak Hill | \$425.00 | |
| 5 | | Brandon Moon | 4th Overall | 8.26 | \$300.00 | Wellston City School Board/Member | \$300.00 | |
| 6 | | Brice Sizemore | 5th Overall | 9.48 | \$300.00 | Walmart | \$300.00 | |
| 7 | | Brandon Moon | 6th Overall | 8.74 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | V |
| 7 | | Brandon Moon | 6th Overall | 8.74 | \$225.00 | Dan and Terri Bennett | \$225.00 | |
| 8 | | Breeanna Jenkins | 7th Overall | 8.9 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | V |
| 8 | | Breeanna Jenkins | 7th Overall | 8.9 | \$200.00 | WesBanco | \$200.00 | |
| 9 | | Aidan Ross | 8th Overall | 8.48 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 9 | | Aidan Ross | 8th Overall | 8.48 | \$225.00 | WesBanco | \$225.00 | |
| 10 | | Allisyn Mercer | 9th Overall | 7.12 | \$400.00 | Romar Metal Fabricating Inc. | \$400.00 | |
| 11 | | Ashton McKenzie | 10th Overall | 7.2 | \$400.00 | Wastren Advantage Inc (WAI) | \$400.00 | |
| 12 | | Erika Reed | | 7 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 12 | | Erika Reed | | 7 | \$225.00 | Papa John's of Jackson | \$225.00 | |
| 13 | | Addison Perkins | | 7 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 13 | | Addison Perkins | | 7 | \$225.00 | GEM Beverages Inc. | \$225.00 | |
| 14 | | Kylee Castle | | 7.2 | \$225.00 | Bellisio Foods | \$50.00 | ✓ |
| 14 | | Kylee Castle | | 7.2 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 14 | | Kylee Castle | | 7.2 | \$225.00 | GEM Beverages Inc. | \$225.00 | |
| 14 | | Kylee Castle | | 7.2 | \$225.00 | WesBanco | \$100.00 | ✓ |
| 15 | | Sarah Goodin | | 7.4 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 15 | | Sarah Goodin | | 7.4 | \$225.00 | Mark Porter Ford | \$225.00 | |
| 16 | | Kerrigan Wilson | | 7.6 | \$600.00 | Kroger | \$600.00 | |
| 17 | | Tori Lung | | 7.76 | \$500.00 | GEM Beverages Inc. | \$500.00 | |
| 18 | | Jalynn Louderback | | 7.84 | \$550.00 | Nourse Family Dealership | \$550.00 | |
| 19 | | Katie Johnson | | 8.12 | \$200.00 | Mark Porter Ford | \$200.00 | |
| 19 | | Katie Johnson | | 8.12 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | V |

2017 Junior Fair Livestock Sale

Page 1 of 20

This software is registered to Jackson County Fair

7/31/2017 5:00:10 PM

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add on |
|---------------|-------------|-------------------|-----------------|----------|------------|--|-----------------|-------------------|
| - Market | Rabb | it 137 rec | ords | | | | | |
| 21 | | Paige Oneill | | 8.64 | \$350.00 | McDonalds/Wellston/Jackson/Oak Hill | \$350.00 | |
| 22 | | Chandler Willis | | 7 | \$600.00 | Chew's Hauling | \$600.00 | |
| 23 | | Bethany Armstrong | | 7.01 | \$500.00 | Jackson Storage | \$500.00 | |
| 24 | | Collin Folden | | 7.14 | \$300.00 | Holzapfel Family Clinic | \$300.00 | |
| 25 | | Zachary Daft | | 7.18 | \$400.00 | Jackson Storage | \$400.00 | |
| 25 | | Zachary Daft | | 7.18 | \$400.00 | Flour BWXT Portsmouth LLC | \$100.00 | ✓ |
| 26 | | Erika Rossman | | 7.66 | \$275.00 | GEM Beverages Inc. | \$275.00 | |
| 27 | | Alexus Helman | | 7.72 | \$350.00 | McDonalds/Wellston/Jackson/Oak Hill | \$350.00 | |
| 28 | | Katelyn Eynon | | 8.14 | \$250.00 | Nationwide Insurance/Virgil Hamilton | \$250.00 | |
| 29 | | Kelson Mullins | | 7 | \$325.00 | Zach's Show Pigs | \$325.00 | |
| 30 | | Brenlyn Baxter | | 7.18 | \$525.00 | Bellisio Foods | \$525.00 | $\overline{\Box}$ |
| 31 | | Trinity Jones | | 7.38 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | V |
| 31 | | Trinity Jones | | 7.38 | \$225.00 | Vinton County National Bank | \$225.00 | |
| 32 | | Ashton Ward | | 7.52 | \$250.00 | Chad and Samantha Russ | \$250.00 | |
| 33 | | Hailey Meacham | | 7.88 | \$225.00 | David R Dilley | \$225.00 | $\overline{\Box}$ |
| 33 | | Hailey Meacham | | 7.88 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | <u>√</u> |
| 34 | | Ricky Albert | | 8.08 | \$225.00 | KFC Oak Hill | \$225.00 | |
| 34 | | Ricky Albert | | 8.08 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ~ |
| 35 | | Daniel Baker | | 8.48 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 35 | П | Daniel Baker | | 8.48 | \$200.00 | GEM Beverages Inc. | \$200.00 | |
| 35 | П | Daniel Baker | | 8.48 | \$200.00 | WesBanco | \$150.00 | ~ |
| 36 | \Box | Hunter Causey | | 8.74 | \$275.00 | Jackson Ag Service | \$50.00 | V |
| 36 | \Box | Hunter Causey | | 8.74 | \$275.00 | Loan Central | \$275.00 | |
| 37 | | Olivia Moore | | 9.1 | \$300.00 | #1 Buckeye Lawn & Landscapes LLC | \$300.00 | |
| 37 | | Olivia Moore | | 9.1 | \$300.00 | Flour BWXT Portsmouth LLC | \$100.00 | <u> </u> |
| 38 | | Abigail Spires | | 7 | \$275.00 | Flour BWXT Portsmouth LLC | \$100.00 | ✓ |
| 38 | П | Abigail Spires | | 7 | \$275.00 | Holzapfel Family Clinic | \$275.00 | |
| 39 | П | Chloe McKenzie | | 7.04 | \$375.00 | Wastren Advantage Inc (WAI) | \$25.00 | ✓ |
| 39 | П | Chloe McKenzie | | 7.04 | \$375.00 | Wastren Advantage Inc (WAI) | \$375.00 | |
| 40 | \exists | Olivia Holzapfel | | 7.14 | \$325.00 | Jerry's Do It Center | \$325.00 | $\neg \neg$ |
| 41 | \exists | Jenna Willis | | 7.38 | \$600.00 | Chew's Hauling | \$600.00 | $\neg \neg$ |
| 42 | \exists | Chloe Wilbur | | 7.88 | \$225.00 | GEM Beverages Inc. | \$225.00 | $\neg \neg$ |
| 42 | \vdash | Chloe Wilbur | | 7.88 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | V |
| 43 | | Allison Moore | | 8.2 | \$250.00 | Flour BWXT Portsmouth LLC | \$100.00 | <u>✓</u> |
| 43 | | Allison Moore | | 8.2 | \$250.00 | Sheward-Fulks Insurance Rep State Auto | \$250.00 | |
| 44 | | Chloe Coyan | | 8.98 | \$400.00 | Jackson Ag Service | \$50.00 | V |
| 44 | - | Chloe Coyan | | 8.98 | \$400.00 | Jackson Ag Service | \$400.00 | |

Page 2 of 20

This software is registered to Jackson County Fair

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|-------------------|-----------------|----------|------------|---------------------------------------|-----------------|---------------|
| - Market | Rabb | it 137 rec | ords | | | | | |
| 45 | | Hannah Keller | | 7 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 45 | | Hannah Keller | | 7 | \$225.00 | Holzapfel Family Clinic | \$225.00 | |
| 46 | | Jenna King | | 6.9 | \$225.00 | Flour BWXT Portsmouth LLC | \$100.00 | ✓ |
| 46 | | Jenna King | | 6.9 | \$225.00 | Lorene G Johnston | \$225.00 | |
| 47 | | Kyleigh Mannering | | 7.14 | \$225.00 | Nationwide Insurance/Virgil Hamilton | \$225.00 | |
| 47 | | Kyleigh Mannering | | 7.14 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 48 | | MacKenzie Coulter | | 7.36 | \$200.00 | Wellston Fire Department | \$200.00 | |
| 48 | | MacKenzie Coulter | | 7.36 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 49 | | Bradin Bolling | | 7.8 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 49 | | Bradin Bolling | | 7.8 | \$200.00 | Paul Riegel | \$200.00 | |
| 50 | | Hunter Skaggs | | 8.11 | \$375.00 | Mark Porter Ford | \$375.00 | |
| 51 | | Austin Eynon | | 8.72 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 51 | | Austin Eynon | | 8.72 | \$200.00 | KFC Oak Hill | \$200.00 | |
| 52 | | Jaley Fischer | | 8.76 | \$200.00 | KFC Oak Hill | \$200.00 | |
| 52 | | Jaley Fischer | | 8.76 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 53 | | Marissa Mullens | | 9 | \$225.00 | New Roachie Farm | \$100.00 | ✓ |
| 53 | | Marissa Mullens | | 9 | \$225.00 | Wellston Fire Department | \$225.00 | |
| 54 | | Rylyn Potts | | 7 | \$300.00 | Kroger | \$300.00 | |
| 55 | | Luke Santos | | 7.1 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 55 | | Luke Santos | | 7.1 | \$200.00 | MLA Construction | \$200.00 | |
| 56 | | Daelyn Sams | | 7.26 | \$325.00 | Paula Stewart Oak Hill School Board | \$100.00 | ✓ |
| 56 | | Daelyn Sams | | 7.26 | \$325.00 | Vinton County National Bank | \$325.00 | |
| 57 | | Zach Wilbur | | 7.38 | \$200.00 | GEM Beverages Inc. | \$200.00 | |
| 57 | | Zach Wilbur | | 7.38 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 58 | | Makenna Folden | | 7.66 | \$400.00 | Jackson Storage | \$400.00 | |
| 59 | | Collin Hill | | 7.74 | \$350.00 | Romar Metal Fabricating Inc. | \$350.00 | |
| 60 | | Haley Ross | | 8.32 | \$250.00 | Gas N Stuff | \$250.00 | |
| 61 | | Makayla Linton | | 8.7 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 61 | | Makayla Linton | | 8.7 | \$200.00 | KFC Oak Hill | \$200.00 | |
| 62 | | Jaden Stumbo | | 8.9 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 62 | | Jaden Stumbo | | 8.9 | \$200.00 | McDonalds/Wellston/Jackson/Oak Hill | \$200.00 | |
| 63 | | McKensey Coyan | | 9.44 | \$325.00 | McDonalds/Wellston/Jackson/Oak Hill | \$325.00 | |
| 63 | | McKensey Coyan | | 9.44 | \$325.00 | Jackson Ag Service | \$50.00 | ✓ |
| 64 | | Natalie Zinn | | 7 | \$325.00 | Gas N Stuff | \$325.00 | |
| 65 | | Ashley Butts | | 7 | \$275.00 | Justin Lovett, Jackson Co. Prosecutor | \$275.00 | |
| 66 | | Brooklyn Fizer | | 7.1 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 66 | | Brooklyn Fizer | | 7.1 | \$225.00 | Phillip's Lawn Care | \$225.00 | |

Page 3 of 20

| Sale Order | Co. Bred | Exhibitor Name Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|--------------------------------|----------|------------|---------------------------------------|-----------------|-------------------|
| 1 - Marke | t Rabb | oit ······ 137 records | | | | | |
| 67 | | Natalia Mason | 7.32 | \$275.00 | Madison Jefferson FD | \$275.00 | |
| 68 | | Kamryn Muncy | 7.42 | \$275.00 | Perry Physical Therapy | \$100.00 | ✓ |
| 68 | | Kamryn Muncy | 7.42 | \$275.00 | WesBanco | \$275.00 | |
| 69 | | Presley Oneill | 7.8 | \$350.00 | OSCO Charity Fund | \$350.00 | |
| 70 | | Kyle Carter | 7.86 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 70 | | Kyle Carter | 7.86 | \$200.00 | Winters Products | \$200.00 | |
| 71 | | Kylie Daniels | 8.24 | \$250.00 | Holzapfel Family Clinic | \$250.00 | |
| 72 | | Cody Case | 8.28 | \$275.00 | Jackson Storage | \$275.00 | |
| 72 | | Cody Case | 8.28 | \$275.00 | MWM Farms | \$50.00 | ✓ |
| 73 | | Mykenna Eberts | 7 | \$300.00 | GEM Beverages Inc. | \$300.00 | $\overline{\Box}$ |
| 74 | | Mika Mason | 7.34 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 74 | | Mika Mason | 7.34 | \$225.00 | Loan Central | \$225.00 | $\overline{\Box}$ |
| 75 | | Kylee Bako | 7.6 | \$250.00 | MWM Farms | \$50.00 | ✓ |
| 75 | | Kylee Bako | 7.6 | \$250.00 | Jackson Storage | \$250.00 | $\overline{}$ |
| 76 | | Brayden Daniels | 7.68 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | <u>✓</u> |
| 76 | | Brayden Daniels | 7.68 | \$200.00 | Printex | \$200.00 | |
| 77 | | Skyler Smith | 7.14 | \$225.00 | Arch and Eddie's | \$225.00 | |
| 77 | | Skyler Smith | 7.14 | \$225.00 | Dr. Larry Schmitt DDS | \$25.00 | ✓ |
| 78 | | Taylor Ross | 8.48 | \$250.00 | Holzer Health System | \$250.00 | |
| 79 | | Kaylee Ball | 8.6 | \$400.00 | People's Bank of Wellston and Jackson | \$400.00 | |
| 80 | | Victoria Wright | 7 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | ✓ |
| 80 | | Victoria Wright | 7 | \$200.00 | Nationwide Insurance/Virgil Hamilton | \$200.00 | $\overline{\Box}$ |
| 81 | | Tate Aldridge | 7.38 | \$200.00 | Heartland-BU 3251 | \$100.00 | <u>✓</u> |
| 81 | | Tate Aldridge | 7.38 | \$200.00 | Mark Porter Ford | \$200.00 | |
| 81 | | Tate Aldridge | 7.38 | \$200.00 | Paula Stewart Oak Hill School Board | \$100.00 | ✓ |
| 82 | | Bryanna Linton | 7.88 | \$200.00 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 82 | | Bryanna Linton | 7.88 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | <u> </u> |
| 82 | | Bryanna Linton | 7.88 | \$200.00 | KFC Oak Hill | \$200.00 | |
| 83 | \Box | Katie Abell | 8.04 | \$300.00 | Standpipe Enterprises | \$300.00 | |
| 84 | | Brayden Fizer | 7 | \$200.00 | Dr. Larry Schmitt DDS | \$50.00 | V |
| 84 | | Brayden Fizer | 7 | \$200.00 | KFC Oak Hill | \$200.00 | $\overline{\Box}$ |
| 85 | | Karson Mullins | 7.34 | \$275.00 | Jerry's Do It Center | \$275.00 | |
| 301 | | Tysen Lewis | 6 | \$250.00 | Vinton County National Bank | \$250.00 | $\overline{\Box}$ |
| | | | | | · | | |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|---------------------|------------------|----------|------------|---|-----------------|---------------|
| - Market | Poult | ry 36 reco | rds | | | | | |
| 86 | | Harper Euton | Grand Champion | 13.54 | \$1,600.00 | EMZCO Inc. | \$800.00 | |
| 86 | | Harper Euton | Grand Champion | 13.54 | \$1,600.00 | Jon McMillen | \$800.00 | |
| 87 | | Josh Blackburn | Reserve Champion | 12.22 | \$750.00 | Al Stone | \$600.00 | ✓ |
| 87 | | Josh Blackburn | Reserve Champion | 12.22 | \$750.00 | KFC Oak Hill | \$750.00 | |
| 88 | | Brenton Moon | 4th Overall | 13.68 | \$275.00 | Judge Chris Regan | \$275.00 | |
| 89 | | Brenton Moon | 6th Overall | 13.16 | \$300.00 | Vinton County National Bank | \$300.00 | |
| 90 | | Josh Blackburn | 8th Overall | 12.44 | \$300.00 | OVB | \$300.00 | |
| 91 | | Alexand Peoples | 9th Overall | 11.08 | \$700.00 | KFC Oak Hill | \$700.00 | |
| 92 | | Izabella Stafford | 10th Overall | 11.38 | \$275.00 | Randy Evans Construction | \$275.00 | |
| 93 | | Katelyn Roberts | | 8.12 | \$200.00 | WesBanco | \$50.00 | ✓ |
| 93 | | Katelyn Roberts | | 8.12 | \$200.00 | Mark Porter Ford | \$200.00 | |
| 94 | | Kaleigh Davis | | 9.82 | \$350.00 | Holzapfel Family Clinic | \$350.00 | |
| 95 | | Max Gentry | | 10.7 | \$250.00 | Kim Harless, Jackson City School Bd. Member | \$250.00 | |
| 96 | | Aimee Bryan | | 11.7 | \$200.00 | Dan and Terri Bennett | \$125.00 | ✓ |
| 96 | | Aimee Bryan | | 11.7 | \$200.00 | OVB | \$200.00 | |
| 96 | | Aimee Bryan | | 11.7 | \$200.00 | WesBanco | \$50.00 | ✓ |
| 97 | | Emma Moon | | 13.02 | \$325.00 | American Warehousing Of Jackson LLC | \$325.00 | |
| 98 | | Madeline Coughenour | | 13.2 | \$375.00 | American Warehousing Of Jackson LLC | \$375.00 | |
| 99 | | James Coy | | 6.92 | \$225.00 | Randy Evans Construction | \$225.00 | |
| 99 | | James Coy | | 6.92 | \$225.00 | WesBanco | \$25.00 | ✓ |
| 100 | | Ethan Criner | | 9.82 | \$250.00 | Piggly Wiggly of Oak Hill | \$250.00 | |
| 101 | | Tyson Davis | | 10.46 | \$275.00 | Holzer Health System | \$275.00 | |
| 102 | | Kylan Strickland | | 10.86 | \$225.00 | Dale Neal | \$225.00 | |
| 102 | | Kylan Strickland | | 10.86 | \$225.00 | WesBanco | \$25.00 | ✓ |
| 103 | | Samuel Gentry | | 12.18 | \$375.00 | Paul Riegel | \$375.00 | |
| 104 | | Levi Weghorst | | 13.68 | \$225.00 | Randy Evans Construction | \$225.00 | |
| 104 | | Levi Weghorst | | 13.68 | \$225.00 | WesBanco | \$25.00 | ✓ |
| 105 | | lan Roush | | 9.9 | \$200.00 | Paula Stewart Oak Hill School Board | \$100.00 | ~ |
| 105 | | Ian Roush | | 9.9 | \$200.00 | KFC Oak Hill | \$200.00 | |
| 105 | | lan Roush | | 9.9 | \$200.00 | WesBanco | \$50.00 | ~ |
| 106 | | Gabrielle Sickles | | 10.92 | \$325.00 | Nourse Family Dealership | \$325.00 | |
| 107 | | Tyler Carter | | 6 | \$200.00 | KFC Oak Hill | \$200.00 | |
| 107 | | Tyler Carter | | 6 | \$200.00 | WesBanco | \$50.00 | V |
| 108 | | Dylan Coffey | | 11.28 | \$325.00 | Nourse Family Dealership | \$325.00 | |
| 109 | | Madyson Williams | | 6 | \$225.00 | Parker Excavating | \$225.00 | |
| 109 | | Madyson Williams | | 6 | \$225.00 | WesBanco | \$25.00 | V |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|---------------------|----------------------------------|----------|------------|---|-----------------|---------------|
| 3 - Marke | t Turk | ey ····· 17 records | | | | | | |
| 110 | | Jordan Causey | Grand Champion | 25 | \$1,700.00 | Justin Lovett, Jackson Co. Prosecutor | \$500.00 | |
| 110 | | Jordan Causey | Grand Champion | 25 | \$1,700.00 | David R Dilley | \$1,200.00 | |
| 111 | | Brady Price | Reserve Champion/Overall Showman | 28 | \$1,200.00 | Southern Ohio Monument | \$1,200.00 | |
| 112 | | Alex Sharp | 3rd Overall | 24 | \$250.00 | McDonalds/Wellston/Jackson/Oak Hill | \$250.00 | |
| 113 | | Jordan Causey | 4th Overall | 24 | \$225.00 | David R Dilley | \$225.00 | |
| 114 | | Bailee Lahrmer | 5th Overall | 23 | \$250.00 | Cozy Glenn Firearms | \$125.00 | |
| 114 | | Bailee Lahrmer | 5th Overall | 23 | \$250.00 | Oak Hill Auto Sales | \$125.00 | |
| 115 | | Brady Price | 6th Overall | 25 | \$325.00 | Lee Saylor Logging | \$325.00 | |
| 116 | | Brice Stepp | 7th Overall | 29 | \$350.00 | Dunn Farms | \$350.00 | |
| 117 | | Alyssa Proehl | 8th Overall | 24 | \$475.00 | Justin W. Skaggs Law Office | \$475.00 | |
| 118 | | Alyssa Gray | 9th Overall | 22 | \$250.00 | Honey Creek BBQ | \$100.00 | ✓ |
| 118 | | Alyssa Gray | 9th Overall | 22 | \$250.00 | Southern Ohio Eye Surgery - Dr. Steven Demick | \$200.00 | ✓ |
| 118 | | Alyssa Gray | 9th Overall | 22 | \$250.00 | Mark Porter Ford | \$250.00 | |
| 119 | | Jazmine Carter | 10th Overall | 20 | \$300.00 | Lee Saylor Logging | \$300.00 | |
| 121 | | Emilee Ross | | 21 | \$325.00 | Holzer Health System | \$325.00 | |
| 122 | | Matthew Biggs | | 20 | \$275.00 | Parker Excavating | \$275.00 | |
| 123 | | Lydia Greer | | 22 | \$325.00 | Phillip's Lawn Care | \$325.00 | |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add on |
|---------------|-------------------|------------------|--|----------|------------|--|-----------------|---------------|
| - Market | Hog - | ····· 95 records | | | | | | |
| 124 | | Nick Cox | Grand Champion | 261 | \$7.00 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 124 | | Nick Cox | Grand Champion | 261 | \$7.00 | Randy Evans Construction | \$913.50 | |
| 124 | | Nick Cox | Grand Champion | 261 | \$7.00 | Rowdy's Smokehouse | \$913.50 | |
| 125 | | Brady Dailey | Reserve Champion | 244 | \$7.50 | David R Dilley | \$1,830.00 | |
| 126 | ✓ | Carson Peters | Top County Bred/ 6th Overall | 276 | \$6.25 | Flour BWXT Portsmouth LLC | \$100.00 | ✓ |
| 126 | ✓ | Carson Peters | Top County Bred/ 6th Overall | 276 | \$6.25 | Jackson Ag Service | \$100.00 | ✓ |
| 126 | ✓ | Carson Peters | Top County Bred/ 6th Overall | 276 | \$6.25 | Jackson Co. Republican Party | \$1,725.00 | |
| 127 | ✓ | Presley Sexton | Runner-up Top County Bred/ 7th Overall | 287 | \$3.00 | OVB | \$861.00 | |
| 128 | | Bailey Ward | 3rd Overall/ Overall Showman | 255 | \$3.75 | OSCO Charity Fund | \$956.25 | |
| 129 | | Brody Saylor | 4th Overall | 270 | \$9.00 | Parker Excavating | \$2,430.00 | |
| 130 | П | Nick Cox | 5th Overall | 279 | \$2.50 | JVC Metals | \$697.50 | |
| 131 | | Daniel Stewart | 8th Overall | 270 | \$5.25 | Jackson Ag Service | \$50.00 | V |
| 131 | | Daniel Stewart | 8th Overall | 270 | \$5.25 | Romar Metal Fabricating Inc. | \$1,417.50 | |
| 132 | | Kayle Kiser | 9th Overall | 236 | \$10.00 | Ricer Equipment | \$1,180.00 | |
| 132 | \Box | Kayle Kiser | 9th Overall | 236 | \$10.00 | Steven Kiser | \$100.00 | ✓ |
| 132 | $\overline{\Box}$ | Kayle Kiser | 9th Overall | 236 | \$10.00 | Circle M Farms/Feed & Supply | \$50.00 | V |
| 132 | $\overline{\Box}$ | Kayle Kiser | 9th Overall | 236 | \$10.00 | Lee Saylor Logging | \$1,180.00 | |
| 132 | Ħ | Kayle Kiser | 9th Overall | 236 | \$10.00 | Gilliland Farm | \$100.00 | ✓ |
| 133 | V | Ryan Seimetz | 10th Overall | 252 | \$3.50 | Jackson Ag Service | \$100.00 | ✓ |
| 133 | V | Ryan Seimetz | 10th Overall | 252 | \$3.50 | Mark Porter Ford | \$882.00 | |
| 133 | V | Ryan Seimetz | 10th Overall | 252 | \$3.50 | Patrick Ball Auctions | \$100.00 | ~ |
| 134 | V | Bryce Malone | | 231 | \$4.00 | Mark Porter Ford | \$924.00 | |
| 135 | | Keelan Kilgour | | 241 | \$4.00 | Carman's Used Cars | \$964.00 | |
| 137 | | J.D. Nelson | | 285 | \$3.00 | The Shelly Co | \$855.00 | |
| 138 | V | Allyssa Helman | | 229 | \$2.50 | Circle M Farms/Feed & Supply | \$286.25 | |
| 138 | V | Allyssa Helman | | 229 | \$2.50 | SERVPRO of Jackson and Gallia Counties | \$286.25 | |
| 139 | V | Jake Malone | | 241 | \$4.00 | Mark Porter Ford | \$964.00 | |
| 140 | | Zachary Walls | | 268 | \$4.50 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 140 | | Zachary Walls | | 268 | \$4.50 | Lee Saylor Logging | \$1,206.00 | |
| 141 | | Morgan Ziegler | | 271 | \$3.00 | Saylor Logging | \$406.50 | |
| 141 | | Morgan Ziegler | | 271 | \$3.00 | Shawna Diehl ERA Realty | \$200.00 | V |
| 141 | П | Morgan Ziegler | | 271 | \$3.00 | CT Trucking Craig and Tara Saylor | \$406.50 | |
| 141 | П | Morgan Ziegler | | 271 | \$3.00 | Galaxy Industries | \$100.00 | <u> </u> |
| 141 | П | Morgan Ziegler | | 271 | \$3.00 | Printex | \$100.00 | V |
| 142 | V | Logan Miller | | 290 | \$3.00 | Bellisio Foods | \$870.00 | |
| 143 | | Dezirea Huffman | | 238 | \$2.25 | EMZCO Inc. | \$535.50 | $\overline{}$ |
| 144 | V | Abby Seimetz | | 255 | \$4.50 | Jackson Ag Service | \$100.00 | V |

Page 7 of 20

This software is registered to Jackson County Fair

7/31/2017 5:00:10 PM

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|-----------------|-----------------|----------|------------|--|-----------------|---------------|
| 4 - Market | Hog - | 95 records | | | | | | |
| 144 | ✓ | Abby Seimetz | | 255 | \$4.50 | Kroger | \$1,147.50 | |
| 144 | ✓ | Abby Seimetz | | 255 | \$4.50 | Patrick Ball Auctions | \$100.00 | ✓ |
| 145 | | Carlee Lewis | | 263 | \$4.75 | Heartland-BU 3251 | \$25.00 | ✓ |
| 145 | | Carlee Lewis | | 263 | \$4.75 | Jackson Ag Service | \$50.00 | ✓ |
| 145 | | Carlee Lewis | | 263 | \$4.75 | Jackson Ag Service | \$1,249.25 | |
| 146 | | Jazmine Rice | | 270 | \$2.25 | OSCO Industries | \$607.50 | |
| 147 | ✓ | Lance Barnett | | 271 | \$3.50 | BE Davis Trucking LLC | \$100.00 | ✓ |
| 147 | ✓ | Lance Barnett | | 271 | \$3.50 | Linda Mcneal | \$200.00 | ✓ |
| 147 | ✓ | Lance Barnett | | 271 | \$3.50 | Portsmouth Mission Alliance | \$948.50 | |
| 148 | ✓ | A.J. Meldick | | 288 | \$2.25 | Paula Stewart Oak Hill School Board | \$100.00 | ✓ |
| 148 | V | A.J. Meldick | | 288 | \$2.25 | Justin W. Skaggs Law Office | \$648.00 | |
| 148 | V | A.J. Meldick | | 288 | \$2.25 | Jones Stephenson Insurance | \$50.00 | ✓ |
| 148 | V | A.J. Meldick | | 288 | \$2.25 | Best Title Agency Inc. | \$100.00 | V |
| 148 | V | A.J. Meldick | | 288 | \$2.25 | The Lewis Agency | \$50.00 | ✓ |
| 149 | V | Caitlin Camp | | 220 | \$2.75 | Fannin Construction | \$302.50 | |
| 149 | V | Caitlin Camp | | 220 | \$2.75 | Patrick Ball Auctions | \$100.00 | V |
| 149 | V | Caitlin Camp | | 220 | \$2.75 | SERVPRO of Jackson and Gallia Counties | \$302.50 | |
| 150 | ✓ | Jacob Wood | | 235 | \$4.00 | Cross & Sons | \$940.00 | |
| 151 | | Ginger Hackney | | 242 | \$2.75 | Circle M Farms/Feed & Supply | \$50.00 | <u> </u> |
| 151 | | Ginger Hackney | | 242 | \$2.75 | KFC Oak Hill | \$665.50 | |
| 152 | V | Teagen Werner | | 252 | \$2.00 | Michael Sheeter Quail Meadow Farm | \$504.00 | |
| 152 | V | Teagen Werner | | 252 | \$2.00 | Ricer Equipment | \$150.00 | V |
| 153 | | Luke Stewart | | 270 | \$7.00 | Jackson Ag Service | \$50.00 | V |
| 153 | | Luke Stewart | | 270 | \$7.00 | Cross & Sons | \$1,890.00 | |
| 154 | <u> </u> | Joseph Barnett | | 275 | \$3.50 | BE Davis Trucking LLC | \$962.50 | |
| 154 | V | Joseph Barnett | | 275 | \$3.50 | Linda Mcneal | \$200.00 | <u> </u> |
| 154 | ✓ | Joseph Barnett | | 275 | \$3.50 | Portsmouth Mission Alliance | \$500.00 | ✓ |
| 155 | V | Ally Meldick | | 284 | \$2.75 | Carman's Used Cars | \$781.00 | |
| 155 | V | Ally Meldick | | 284 | \$2.75 | Justin W. Skaggs Law Office | \$100.00 | <u> </u> |
| 156 | ✓ | Emma Webb | | 237 | \$3.25 | WesBanco | \$770.25 | |
| 157 | | Philip Allison | | 243 | \$2.00 | Farm On The Ridge | \$50.00 | V |
| 157 | П | Philip Allison | | 243 | \$2.00 | Printex | \$100.00 | V |
| 157 | | Philip Allison | | 243 | \$2.00 | Animals Unlimited Veterinary Hospital | \$486.00 | |
| 158 | П | Jayce Phillips | | 256 | \$3.00 | EMZCO Inc. | \$768.00 | |
| 159 | V | Abigail Meldick | | 279 | \$2.75 | Jones Stephenson Insurance | \$100.00 | <u> </u> |
| 159 | V | Abigail Meldick | | 279 | \$2.75 | Justin W. Skaggs Law Office | \$100.00 | V |
| 159 | V | Abigail Meldick | | 279 | \$2.75 | Tami Call-Brown Farm | \$767.25 | |

Page 8 of 20

This software is registered to Jackson County Fair

7/31/2017 5:00:10 PM

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|-----------------|-----------------|----------|------------|------------------------------|-----------------|---------------|
| 4 - Market | Hog - | 95 record | s | | | | | |
| 160 | | Josie Hackney | | 244 | \$3.00 | The Lewis Agency | \$100.00 | ✓ |
| 160 | | Josie Hackney | | 244 | \$3.00 | Vinton County National Bank | \$732.00 | |
| 160 | | Josie Hackney | | 244 | \$3.00 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 161 | ✓ | Joshua Brunton | | 247 | \$2.75 | JVC Metals | \$679.25 | |
| 161 | ✓ | Joshua Brunton | | 247 | \$2.75 | Circle M Farms/Feed & Supply | \$100.00 | ✓ |
| 162 | ✓ | Haley Sexton | | 268 | \$2.50 | Arch and Eddie's | \$670.00 | |
| 162 | ✓ | Haley Sexton | | 268 | \$2.50 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 162 | ✓ | Haley Sexton | | 268 | \$2.50 | Printex | \$100.00 | ✓ |
| 164 | ✓ | Natalie Allison | | 220 | \$2.25 | Hickman Family Farms | \$495.00 | |
| 164 | ✓ | Natalie Allison | | 220 | \$2.25 | Farm On The Ridge | \$50.00 | ✓ |
| 165 | | Jadyn Malone | | 239 | \$2.00 | Double M Construction | \$478.00 | |
| 166 | ✓ | Aiden Werner | | 252 | \$2.50 | Ricer Equipment | \$150.00 | ✓ |
| 166 | ✓ | Aiden Werner | | 252 | \$2.50 | Piggly Wiggly of Wellston | \$630.00 | |
| 167 | | Marissa Perkins | | 224 | \$2.25 | Gas N Stuff | \$504.00 | |
| 168 | | Libby Allison | | 220 | \$2.75 | Farm On The Ridge | \$50.00 | ✓ |
| 168 | | Libby Allison | | 220 | \$2.75 | GEM Beverages Inc. | \$605.00 | |
| 168 | | Libby Allison | | 220 | \$2.75 | Rowdy's Smokehouse | \$100.00 | ✓ |
| 169 | | Gwendolyn Erwin | | 227 | \$3.75 | Leedy Angus Farms | \$425.63 | |
| 169 | | Gwendolyn Erwin | | 227 | \$3.75 | Portsmouth Mission Alliance | \$500.00 | ✓ |
| 169 | | Gwendolyn Erwin | | 227 | \$3.75 | Jackson Ag Service | \$50.00 | ✓ |
| 169 | | Gwendolyn Erwin | | 227 | \$3.75 | RES Farm | \$425.63 | |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|----------------|--------------------------|----------|------------|------------------------------|-----------------|---------------|
| 5 - Market | Beef | Feeder ····· 5 | records | | | | | |
| 170 | | Rebecca Shaw | 8th Overall/Rate-Of-Gain | 496 | \$3.25 | Mark Porter Ford | \$806.00 | |
| 170 | | Rebecca Shaw | 8th Overall/Rate-Of-Gain | 496 | \$3.25 | Vinton County National Bank | \$806.00 | |
| 172 | | Riley Kuhn | 9th Overall | 601 | \$2.50 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 172 | | Riley Kuhn | 9th Overall | 601 | \$2.50 | Holzer Health System | \$1,502.50 | |
| 173 | | Hailey Clifton | | 489 | \$2.00 | AMP Farms | \$978.00 | |

2017 Junior Fair Livestock Sale Page 10 of 20

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add |
|---------------|-------------------|--------------------|-----------------------------|----------|------------|--|-----------------|----------|
| - Market | Lamb | 45 records | | | | | | |
| 174 | | Bailey Ward | Grand Champion | 138 | \$12.00 | Cross & Sons | \$1,656.00 | |
| 175 | | Blake Mercer | Reserve Champion | 131 | \$20.00 | Mike's Gun Shop | \$873.33 | |
| 175 | | Blake Mercer | Reserve Champion | 131 | \$20.00 | Southern Ohio Monument | \$873.33 | |
| 175 | | Blake Mercer | Reserve Champion | 131 | \$20.00 | Cross & Sons | \$873.34 | |
| 176 | ✓ | Paige Blevins | Top County Bred | 117 | \$12.00 | Len & Bonnie Holzapfel | \$702.00 | |
| 176 | ✓ | Paige Blevins | Top County Bred | 117 | \$12.00 | Patrick Ball Auctions | \$100.00 | ✓ |
| 176 | ✓ | Paige Blevins | Top County Bred | 117 | \$12.00 | The Store/the Filling Station | \$702.00 | |
| 177 | ✓ | Elizabeth Eiring | Runner-up Top County Bred | 121 | \$8.00 | David R Dilley | \$968.00 | |
| 178 | | Grant Mastin | Overall Showman/5th Overall | 121 | \$6.00 | Fannin Construction | \$242.00 | |
| 178 | | Grant Mastin | Overall Showman/5th Overall | 121 | \$6.00 | SERVPRO of Jackson and Gallia Counties | \$242.00 | |
| 178 | П | Grant Mastin | Overall Showman/5th Overall | 121 | \$6.00 | #1 Buckeye Lawn & Landscapes LLC | \$242.00 | |
| 179 | V | Johnathon Campbell | Rate-Of-Gain | 106 | \$5.50 | Jackson Save A Lot | \$583.00 | |
| 179 | V | Johnathon Campbell | Rate-Of-Gain | 106 | \$5.50 | Anonymous | \$400.00 | V |
| 180 | | Larry Blevins | 4th Overall | 134 | \$5.00 | Circle M Farms/Feed & Supply | \$50.00 | V |
| 180 | $\overline{\Box}$ | Larry Blevins | 4th Overall | 134 | \$5.00 | Holzer Health System | \$150.00 | ✓ |
| 180 | $\overline{\Box}$ | Larry Blevins | 4th Overall | 134 | \$5.00 | Romar Metal Fabricating Inc. | \$670.00 | |
| 180 | Ħ | Larry Blevins | 4th Overall | 134 | \$5.00 | The Saxour Family | \$200.00 | ✓ |
| 181 | Ħ | Kennedie Blevins | 6th Overall | 120 | \$5.00 | Spurlock Ag Lime & Fertilizer, LLC | \$100.00 | V |
| 181 | Ħ | Kennedie Blevins | 6th Overall | 120 | \$5.00 | Holzer Health System | \$150.00 | ~ |
| 181 | \Box | Kennedie Blevins | 6th Overall | 120 | \$5.00 | Stewart Electric | \$600.00 | |
| 182 | П | William Hughes | 9th Overall | 125 | \$4.00 | Lewis & Gillum Funeral Homes-Oak Hill and Jackso | \$500.00 | |
| 183 | Ħ | Brianna Hayburn | 10th Overall | 130 | \$22.00 | Southern Ohio Monument | \$2,860.00 | |
| 184 | V | Josie Ball | | 104 | \$5.00 | Cross & Sons | \$520.00 | |
| 184 | V | Josie Ball | | 104 | \$5.00 | Jones Stephenson Insurance | \$100.00 | ✓ |
| 185 | | Grace Callahan | | 138 | \$7.00 | Armstrong Farms | \$483.00 | |
| 185 | | Grace Callahan | | 138 | \$7.00 | Ed Armstrong - County Commissioner | \$483.00 | |
| 186 | V | John Santos | | 106 | \$4.00 | United Producers of Gallipolis | \$424.00 | |
| 187 | | Kelsey Reed | | 119 | \$6.75 | Jackson Ag Service | \$50.00 | ~ |
| 187 | | Kelsey Reed | | 119 | \$6.75 | Union Stockyards | \$803.25 | |
| 188 | | Mariah Cantor | | 126 | \$6.00 | Jackson Save A Lot | \$756.00 | |
| 188 | $\neg \Box$ | Mariah Cantor | | 126 | \$6.00 | Flour BWXT Portsmouth LLC | \$100.00 | ~ |
| 189 | \Box | Cole Callahan | | 136 | \$7.50 | OVB | \$1,020.00 | |
| 190 | V | Josie Simpson | | 102 | \$8.00 | Cross & Sons | \$816.00 | |
| 191 | | Adriana Denney | | 106 | \$4.25 | Lewis Drug Store | \$450.50 | - |
| 192 | | Cory Reed | | 125 | \$6.75 | Fannin Farms | \$843.75 | - |
| 192 | \vdash | Cory Reed | | 125 | \$6.75 | Jackson Ag Service | \$50.00 | ~ |
| 193 | | Madi Lewis | | 143 | \$8.50 | Heartland-BU 3251 | \$25.00 | <u> </u> |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|------------------|-----------------|----------|------------|--------------------------------|-----------------|---------------|
| 6 - Market | Lamb | 45 records | | | | | | |
| 193 | | Madi Lewis | | 143 | \$8.50 | Jackson Ag Service | \$50.00 | ✓ |
| 193 | | Madi Lewis | | 143 | \$8.50 | United Producers of Gallipolis | \$1,215.50 | |
| 194 | | Elizabeth Hughes | | 116 | \$5.00 | Chad and Samantha Russ | \$580.00 | |
| 195 | | Drake Davis | | 123 | \$6.00 | Circle M Farms/Feed & Supply | \$738.00 | |
| 196 | ✓ | Mya Simpson | | 88 | \$8.00 | Mark Porter Ford | \$704.00 | |
| 197 | ✓ | Annalee Warrens | | 123 | \$8.00 | Jones Stephenson Insurance | \$100.00 | ✓ |
| 197 | ✓ | Annalee Warrens | | 123 | \$8.00 | MWM Farms | \$100.00 | ✓ |
| 197 | ✓ | Annalee Warrens | | 123 | \$8.00 | Valentines Farms | \$984.00 | |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add on |
|---------------|-------------|---------------------|--------------------------------------|----------|------------|-------------------------------------|-----------------|--------------|
| ' - Market | t Goat | 75 records | | | | | | |
| 198 | ✓ | Jade Roach | Grand Champion/Top Co. Bred | 88 | \$20.00 | JVC Metals | \$880.00 | |
| 198 | ✓ | Jade Roach | Grand Champion/Top Co. Bred | 88 | \$20.00 | Pike Water, Inc. | \$500.00 | ✓ |
| 198 | ✓ | Jade Roach | Grand Champion/Top Co. Bred | 88 | \$20.00 | DKM Construction | \$880.00 | |
| 199 | ✓ | Jade Roach | Res. Champion/Runner-up Top Co. Bred | 78 | \$16.00 | Ohio Valley Electric | \$500.00 | ✓ |
| 199 | ✓ | Jade Roach | Res. Champion/Runner-up Top Co. Bred | 78 | \$16.00 | JVC Metals | \$1,248.00 | |
| 200 | | Haley Frazier | Rate-Of-Gain/Overall Showman | 94 | \$31.00 | Feed Stop LLC | \$2,914.00 | |
| 201 | ✓ | Sydney Downey | 3rd Overall | 72 | \$13.00 | Mt. Zion Animal Clinic | \$936.00 | |
| 202 | | Madison Callahan | 4th Overall | 104 | \$8.00 | Armstrong Ag Supply | \$416.00 | |
| 202 | | Madison Callahan | 4th Overall | 104 | \$8.00 | Ed Armstrong | \$416.00 | |
| 203 | | Katelyn Williams | 6th Overall | 89 | \$11.00 | Portsmouth Mission Alliance | \$500.00 | ✓ |
| 203 | | Katelyn Williams | 6th Overall | 89 | \$11.00 | Fox Farm | \$979.00 | |
| 204 | ✓ | Bralee Lyons | 7th Overall | 82 | \$12.00 | Best One Tire and Auto | \$984.00 | |
| 205 | ✓ | Makayla Powers | 8th Overall | 91 | \$6.00 | MLA Construction | \$546.00 | |
| 206 | ✓ | Brook Creech | 9th Overall | 90 | \$7.00 | Double M Construction | \$630.00 | |
| 207 | | Macy Womeldorf | 10th Overall | 68 | \$7.00 | Jenkins Care Community | \$476.00 | |
| 208 | V | Madelyn Fannin | | 61 | \$9.00 | JVC Metals | \$549.00 | |
| 209 | | Kira Mullins | | 63 | \$7.00 | Chris Walls | \$441.00 | |
| 210 | V | Kelsee Harris | | 76 | \$4.00 | OVB | \$304.00 | |
| 211 | V | Sariah Pariseau | | 82 | \$5.00 | Mt. Zion Animal Clinic | \$410.00 | |
| 212 | | Alyssa Zornes | | 92 | \$10.00 | Heartland-BU 3251 | \$100.00 | ✓ |
| 212 | Π | Alyssa Zornes | | 92 | \$10.00 | Mike's Gun Shop | \$920.00 | |
| 213 | П | Jessica Coy | | 60 | \$5.00 | Rising Creek Farm | \$300.00 | |
| 214 | V | Sydney Hollingshead | | 61 | \$15.00 | Jerry's Do It Center | \$915.00 | |
| 215 | V | Jesse Zachariah | | 66 | \$9.00 | Bellisio Foods | \$50.00 | <u>✓</u> |
| 215 | • | Jesse Zachariah | | 66 | \$9.00 | EMZCO Inc. | \$594.00 | |
| 216 | | Drew Zornes | | 80 | \$8.00 | Heartland-BU 3251 | \$100.00 | ✓ |
| 216 | | Drew Zornes | | 80 | \$8.00 | Jones Stephenson Insurance | \$100.00 | V |
| 216 | | Drew Zornes | | 80 | \$8.00 | Mike's Gun Shop | \$640.00 | |
| 217 | | Evan Williams | | 84 | \$13.00 | Portsmouth Mission Alliance | \$500.00 | ✓ |
| 217 | | Evan Williams | | 84 | \$13.00 | Thornhill Farms | \$1,092.00 | |
| 218 | | Aiden Scherer | | 88 | \$7.00 | DKM Construction | \$250.00 | ✓ |
| 218 | | Aiden Scherer | | 88 | \$7.00 | Randy Evans Construction | \$616.00 | |
| 218 | | Aiden Scherer | | 88 | \$7.00 | Shelly & Sands | \$500.00 | V |
| 219 | V | Emily Call | | 109 | \$9.00 | Flour BWXT Portsmouth LLC | \$100.00 | V |
| 219 | V | Emily Call | | 109 | \$9.00 | Frazier Farms- Tedd & Alice Frazier | \$981.00 | |
| 219 | V | Emily Call | | 109 | \$9.00 | Jackson Ag Service | \$100.00 | ✓ |
| 219 | <u> </u> | Emily Call | | 109 | \$9.00 | Michele McMillen | \$100.00 | V |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add on |
|---------------|-------------|--------------------|-----------------|----------|------------|--|-----------------|-------------------|
| ' - Market | Goat | 75 records | | | | | | |
| 220 | ✓ | Bailee Reese | | 60 | \$10.00 | Leedy Angus Farms | \$600.00 | |
| 221 | ✓ | Ashlee Kiser | | 62 | \$9.00 | Jimmy And Tara Salyers | \$558.00 | |
| 221 | ✓ | Ashlee Kiser | | 62 | \$9.00 | Steven Kiser | \$100.00 | ✓ |
| 222 | ✓ | Ani Canter | | 67 | \$7.00 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 222 | ✓ | Ani Canter | | 67 | \$7.00 | Lewis & Gillum Funeral Homes-Oak Hill and Jackso | \$469.00 | |
| 223 | ✓ | Lauren Gardner | | 80 | \$7.00 | Mark Porter Ford | \$250.00 | ✓ |
| 223 | ✓ | Lauren Gardner | | 80 | \$7.00 | Michele McMillen | \$100.00 | ✓ |
| 223 | ✓ | Lauren Gardner | | 80 | \$7.00 | OVB | \$560.00 | |
| 223 | ✓ | Lauren Gardner | | 80 | \$7.00 | The Saxour Family | \$100.00 | ✓ |
| 224 | ✓ | Peyton Hill | | 87 | \$17.00 | People's Bank of Wellston and Jackson | \$100.00 | ✓ |
| 224 | V | Peyton Hill | | 87 | \$17.00 | Thornhill Farms | \$1,479.00 | |
| 225 | V | Konlyn Peck | | 61 | \$11.00 | People's Bank of Wellston and Jackson | \$671.00 | |
| 226 | V | Olivia Montgomery | | 65 | \$8.00 | Piggly Wiggly of Wellston | \$520.00 | $\overline{\Box}$ |
| 226 | ✓ | Olivia Montgomery | | 65 | \$8.00 | Wastren Advantage Inc (WAI) | \$400.00 | V |
| 227 | V | Adam Forcier | | 68 | \$10.50 | Bellisio Foods | \$714.00 | |
| 228 | V | Kaitlyn Sheets | | 69 | \$5.00 | Russ Farms | \$345.00 | $\overline{}$ |
| 229 | V | Coen Davis | | 84 | \$9.00 | Jenkins Care Community | \$756.00 | $\overline{}$ |
| 230 | V | Braydon Brown | | 85 | \$9.00 | GEM Beverages Inc. | \$765.00 | $\overline{}$ |
| 230 | V | Braydon Brown | | 85 | \$9.00 | The Lewis Agency | \$100.00 | ~ |
| 230 | V | Braydon Brown | | 85 | \$9.00 | Jones Stephenson Insurance | \$100.00 | V |
| 230 | V | Braydon Brown | | 85 | \$9.00 | Oak Hill Auto Sales | \$100.00 | V |
| 232 | V | Chezney LeMaster | | 62 | \$9.00 | Serenity Farms | \$558.00 | |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | Gilliland Farm | \$100.00 | V |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | Romar Metal Fabricating Inc. | \$304.00 | |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | Jones Stephenson Insurance | \$100.00 | V |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | Fannin Cattle | \$304.00 | |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | Bridgeport Equipment and Tool | \$304.00 | |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | AMP Farms | \$100.00 | V |
| 233 | V | Joseph Shaw | | 76 | \$16.00 | Fannin Farms | \$304.00 | |
| 233 | | Joseph Shaw | | 76 | \$16.00 | Stout Farms | \$100.00 | ✓ |
| 234 | <u> </u> | Max Bowman | | 84 | \$14.00 | Jackson Ag Service | \$50.00 | ✓ |
| 234 | V | Max Bowman | | 84 | \$14.00 | OVB | \$1,176.00 | |
| 234 | V | Max Bowman | | 84 | \$14.00 | Romar Metal Fabricating Inc. | \$200.00 | V |
| 235 | | Jennifer Meldick | | 60 | \$8.00 | Justin W. Skaggs Law Office | \$100.00 | <u> </u> |
| 235 | | Jennifer Meldick | | 60 | \$8.00 | Piggly Wiggly of Oak Hill | \$480.00 | |
| 236 | J | Alexis Pariseau | | 67 | \$4.00 | Mt. Zion Animal Clinic | \$268.00 | \dashv |
| 237 | | Isabella Womeldorf | | 84 | \$7.00 | Jenkins Care Community | \$588.00 | - |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|--------------------|-----------------|----------|------------|-----------------|-----------------|---------------|
| 7 - Market | Goat | 75 records | | | | | | |
| 237 | | Isabella Womeldorf | | 84 | \$7.00 | Service Central | \$100.00 | ✓ |

2017 Junior Fair Livestock Sale Page 15 of 20

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add |
|---------------|-------------|-------------------|-------------------------------------|----------|------------|---------------------------------------|-----------------|----------|
| - Dairy M | larket | Feeder 70 | records | | | | | |
| 238 | | Aden Strawser | Grand Champion | 540 | \$3.00 | Bridgeport Equipment and Tool | \$810.00 | |
| 238 | | Aden Strawser | Grand Champion | 540 | \$3.00 | Jackson Ag Service | \$50.00 | ✓ |
| 238 | | Aden Strawser | Grand Champion | 540 | \$3.00 | Lawn Lords Lawn Care | \$500.00 | ✓ |
| 238 | | Aden Strawser | Grand Champion | 540 | \$3.00 | Patrick Ball Auctions | \$100.00 | ✓ |
| 238 | | Aden Strawser | Grand Champion | 540 | \$3.00 | Spurlock Ag Lime & Fertilizer, LLC | \$810.00 | |
| 239 | | Claudia Ervin | Reserve Champion | 588 | \$4.50 | Jackson Ag Service | \$50.00 | ✓ |
| 239 | | Claudia Ervin | Reserve Champion | 588 | \$4.50 | Jackson Ag Service | \$2,646.00 | |
| 240 | ✓ | Blake Mercer | Top Co Bred/Overall Showman/3rd Ov. | 543 | \$3.00 | BE Davis Trucking LLC | \$100.00 | ✓ |
| 240 | ✓ | Blake Mercer | Top Co Bred/Overall Showman/3rd Ov. | 543 | \$3.00 | OVB | \$1,629.00 | |
| 241 | V | Addison Dickens | Runner-up Top County Bred | 452 | \$3.00 | Mark Porter Ford | \$1,356.00 | |
| 242 | П | Addison Dulaney | Rate-Of-Gain | 597 | \$1.80 | Animals Unlimited Veterinary Hospital | \$1,074.60 | |
| 242 | П | Addison Dulaney | Rate-Of-Gain | 597 | \$1.80 | Jackson Ag Service | \$50.00 | V |
| 243 | | Lisa Erwin | 4th Overall | 636 | \$2.40 | Chew's Hauling | \$1,526.40 | |
| 243 | | Lisa Erwin | 4th Overall | 636 | \$2.40 | Circle M Farms/Feed & Supply | \$50.00 | V |
| 243 | | Lisa Erwin | 4th Overall | 636 | \$2.40 | Jackson Ag Service | \$50.00 | ✓ |
| 243 | П | Lisa Erwin | 4th Overall | 636 | \$2.40 | Leedy Angus Farms | \$100.00 | V |
| 244 | П | Kenna Adkins | 5th Overall | 599 | \$1.60 | Holzer Health System | \$958.40 | |
| 245 | П | Kyle Kiser | 6th Overall | 510 | \$1.45 | Steven Kiser | \$100.00 | ~ |
| 245 | П | Kyle Kiser | 6th Overall | 510 | \$1.45 | Lee Saylor Logging | \$369.75 | |
| 245 | П | Kyle Kiser | 6th Overall | 510 | \$1.45 | Parker Excavating | \$369.75 | |
| 246 | | Ivy Gentry | 8th Overall | 407 | \$1.70 | Mark Porter Ford | \$691.90 | |
| 246 | | Ivy Gentry | 8th Overall | 407 | \$1.70 | The Saxour Family | \$100.00 | V |
| 246 | | Ivy Gentry | 8th Overall | 407 | \$1.70 | Wyant & Sons | \$100.00 | V |
| 247 | | Claudia Ervin | 9th Overall | 593 | \$1.45 | Parker Excavating | \$859.85 | |
| 248 | | Natalie Krannitz | 10th Overall | 581 | \$2.25 | Gilliland Farm | \$100.00 | ✓ |
| 248 | П | Natalie Krannitz | 10th Overall | 581 | \$2.25 | Jackson Ag Service | \$100.00 | V |
| 248 | | Natalie Krannitz | 10th Overall | 581 | \$2.25 | Lee Saylor Logging | \$1,307.25 | |
| 249 | | Jerzey Dean | | 403 | \$1.85 | Saylor Logging | \$745.55 | |
| 250 | | Savannah Stickley | | 436 | \$2.00 | Mark Porter Ford | \$872.00 | |
| 251 | | Bailey Hoyt | | 559 | \$2.50 | Genevieve Davis, DVM | \$50.00 | ~ |
| 251 | | Bailey Hoyt | | 559 | \$2.50 | Lee Saylor Logging | \$698.75 | |
| 251 | П | Bailey Hoyt | | 559 | \$2.50 | Parker Excavating | \$698.75 | \Box |
| 251 | \Box | Bailey Hoyt | | 559 | \$2.50 | Roseberry Farms | \$50.00 | ~ |
| 252 | \Box | Morgan Lahrmer | | 585 | \$2.50 | Russ Farm Equipment | \$1,462.50 | |
| 252 | | Morgan Lahrmer | | 585 | \$2.50 | Cozy Glenn Firearms | \$100.00 | ✓ |
| 252 | | Morgan Lahrmer | | 585 | \$2.50 | Duane Hagen Insurance Agency | \$100.00 | ✓ |
| 253 | | Madilynn Wright | | 482 | \$2.25 | Roseberry Farms | \$50.00 | V |

| Sale Order | Co. Bred | Exhibitor Name Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------------|--------------------------------|----------|------------|---------------------------------------|-----------------|---------------|
| - | Market | Feeder ····· 70 records | | | | | |
| 253 | | Madilynn Wright | 482 | \$2.25 | MWM Farms | \$50.00 | <u> </u> |
| 253 | | Madilynn Wright | 482 | \$2.25 | Animals Unlimited Veterinary Hospital | \$1,084.50 | |
| 253 | | Madilynn Wright | 482 | \$2.25 | Gillum Insurance | \$250.00 | ✓ |
| 254 | | Madison Rouse | 515 | \$2.00 | Animals Unlimited Veterinary Hospital | \$50.00 | ✓ |
| 254 | | Madison Rouse | 515 | \$2.00 | Circle M Farms/Feed & Supply | \$515.00 | |
| 254 | | Madison Rouse | 515 | \$2.00 | Shoemaker Rentals | \$515.00 | |
| 255 | | Haley Krannitz | 557 | \$1.75 | Chad and Samantha Russ | \$100.00 | ✓ |
| 255 | | Haley Krannitz | 557 | \$1.75 | Jackson Ag Service | \$974.75 | |
| 255 | | Haley Krannitz | 557 | \$1.75 | Gilliland Farm | \$100.00 | ✓ |
| 255 | | Haley Krannitz | 557 | \$1.75 | Jackson Ag Service | \$100.00 | ✓ |
| 256 | | Junior Stumbo | 597 | \$2.25 | Jackson Ag Service | \$150.00 | ✓ |
| 256 | | Junior Stumbo | 597 | \$2.25 | Jones Stephenson Insurance | \$100.00 | ✓ |
| 256 | | Junior Stumbo | 597 | \$2.25 | Leedy Angus Farms | \$671.63 | |
| 256 | | Junior Stumbo | 597 | \$2.25 | RES Farm | \$671.63 | |
| 256 | | Junior Stumbo | 597 | \$2.25 | Roseberry Farms | \$50.00 | ✓ |
| 257 | ✓ | Chase Dickens | 357 | \$2.50 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 257 | ✓ | Chase Dickens | 357 | \$2.50 | AM Commodities | \$892.50 | |
| 258 | ✓ | Conor Dickens | 395 | \$2.00 | Fannin Farms | \$790.00 | |
| 259 | | Michael Williams | 429 | \$2.00 | Brad McCorkle Construction | \$858.00 | |
| 260 | | Brennen Greene | 510 | \$1.75 | Coll Auto | \$892.50 | |
| 260 | | Brennen Greene | 510 | \$1.75 | Jackson Ag Service | \$50.00 | ✓ |
| 261 | | Abby Conschafsky | 584 | \$1.75 | Best Title Agency Inc. | \$100.00 | ✓ |
| 261 | | Abby Conschafsky | 584 | \$1.75 | Rising Creek Farm | \$1,022.00 | |
| 262 | | Haylee Skaggs | 570 | \$2.00 | Piggly Wiggly of Oak Hill | \$1,140.00 | |
| 263 | | Caitlynn Toth | 516 | \$2.00 | OVB | \$1,032.00 | |
| 264 | | Grace Lundy | 555 | \$1.50 | Spurlock Ag Lime & Fertilizer, LLC | \$50.00 | ✓ |
| 264 | | Grace Lundy | 555 | \$1.50 | Russ Farm Equipment | \$832.50 | |
| 265 | $\overline{\Box}$ | Olivia Dulaney | 532 | \$1.45 | Jackson Ag Service | \$50.00 | <u> </u> |
| 265 | П | Olivia Dulaney | 532 | \$1.45 | Walmart | \$771.40 | |
| 266 | | Noah Collins | 548 | \$1.75 | Parker Excavating | \$959.00 | |
| 266 | | Noah Collins | 548 | \$1.75 | Perkins Wood Products | \$200.00 | ~ |
| 267 | | Maddison Eggers | 517 | \$2.75 | Mark Porter Ford | \$1,421.75 | |
| | | | | • | | | |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add t on |
|---------------|-------------|------------------|---------------------------------------|----------|------------|--|-----------------|----------------|
| 9 - Steer - | | ··· 99 records | | | | | | |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Animals Unlimited Veterinary Hospital | \$100.00 | ✓ |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Jackson-Vinton Farm Bureau | \$100.00 | ✓ |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Jackson Ag Service | \$100.00 | ✓ |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Holzer Health System | \$125.00 | ✓ |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Hickman Family Farms | \$100.00 | ✓ |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Dr. Marla and Paul Haller, Jackson Co. Comm. | \$4,064.10 | |
| 268 | ✓ | Owen Greene | Grand Champion/Top Co Bred/Ov.Showman | 1311 | \$3.10 | Genevieve Davis, DVM | \$100.00 | ✓ |
| 269 | | Haley Frazier | Reserve Champion | 1266 | \$4.00 | Jackson-Vinton Farm Bureau | \$100.00 | ✓ |
| 269 | | Haley Frazier | Reserve Champion | 1266 | \$4.00 | Rowdy's Smokehouse | \$2,532.00 | |
| 269 | | Haley Frazier | Reserve Champion | 1266 | \$4.00 | Gillum Insurance | \$2,532.00 | |
| 269 | | Haley Frazier | Reserve Champion | 1266 | \$4.00 | BE Davis Trucking LLC | \$100.00 | ~ |
| 269 | | Haley Frazier | Reserve Champion | 1266 | \$4.00 | Jackson Ag Service | \$100.00 | ✓ |
| 270 | V | Ramey Wyant | Runner-up Top Co Bred/4th Overall | 1271 | \$3.25 | OVB | \$375.00 | ✓ |
| 270 | ~ | Ramey Wyant | Runner-up Top Co Bred/4th Overall | 1271 | \$3.25 | Wyant & Sons | \$500.00 | ✓ |
| 270 | V | Ramey Wyant | Runner-up Top Co Bred/4th Overall | 1271 | \$3.25 | Frazier Farms- Tedd & Alice Frazier | \$4,130.75 | |
| 271 | V | Carlee Dempsey | Rate-Of-Gain | 1413 | \$1.80 | Lee Saylor Logging | \$200.00 | ✓ |
| 271 | V | Carlee Dempsey | Rate-Of-Gain | 1413 | \$1.80 | McCarty Crane Service | \$2,543.40 | Ö |
| 271 | V | Carlee Dempsey | Rate-Of-Gain | 1413 | \$1.80 | Everett Farms | \$150.00 | ✓ |
| 271 | V | Carlee Dempsey | Rate-Of-Gain | 1413 | \$1.80 | Circle M Farms/Feed & Supply | \$50.00 | V |
| 271 | V | Carlee Dempsey | Rate-Of-Gain | 1413 | \$1.80 | Chad and Samantha Russ | \$100.00 | V |
| 271 | V | Carlee Dempsey | Rate-Of-Gain | 1413 | \$1.80 | The Saxour Family | \$100.00 | V |
| 272 | | Keaton Potter | 3rd Overall | 1416 | \$2.00 | Jackson Ag Service | \$50.00 | V |
| 272 | | Keaton Potter | 3rd Overall | 1416 | \$2.00 | OSCO Industries | \$1,416.00 | |
| 272 | | Keaton Potter | 3rd Overall | 1416 | \$2.00 | Parker Corporation | \$300.00 | ✓ |
| 272 | | Keaton Potter | 3rd Overall | 1416 | \$2.00 | Stewart Electric | \$1,416.00 | |
| 273 | | Austin Johnson | 5th Overall | 1375 | \$1.65 | Jackson Ag Service | \$50.00 | ✓ |
| 273 | | Austin Johnson | 5th Overall | 1375 | \$1.65 | Leedy Angus Farms | \$137.50 | V |
| 273 | | Austin Johnson | 5th Overall | 1375 | \$1.65 | Leedy Angus Farms | \$2,268.75 | |
| 274 | | Haley Saxour | 6th Overall | 1199 | \$2.20 | Best Title Agency Inc. | \$2,637.80 | |
| 275 | <u> </u> | Elizabeth Fannin | 7th Overall | 1377 | \$1.85 | JVC Metals | \$2,547.45 | |
| 275 | <u> </u> | Elizabeth Fannin | 7th Overall | 1377 | \$1.85 | Rose Walters- Jackson Co Recorder | \$100.00 | ✓ |
| 275 | V | Elizabeth Fannin | 7th Overall | 1377 | \$1.85 | Seth Michael Clerk Of Courts | \$50.00 | V |
| 275 | <u> </u> | Elizabeth Fannin | 7th Overall | 1377 | \$1.85 | Sonny Russ Farms | \$200.00 | V |
| 275 | V | Elizabeth Fannin | 7th Overall | 1377 | \$1.85 | Genevieve Davis, DVM | \$50.00 | ✓ |
| 276 | | Connor Stout | 8th Overall | 1312 | \$1.75 | Spengler Fence | \$1,148.00 | |
| 276 | $\neg \neg$ | Connor Stout | 8th Overall | 1312 | \$1.75 | BE Davis Trucking LLC | \$100.00 | ✓ |
| 276 | | Connor Stout | 8th Overall | 1312 | \$1.75 | Fannin Cattle | \$1,148.00 | |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|-------------------|-----------------|----------|------------|------------------------------------|-----------------|---------------|
| 9 - Steer - | | ···· 99 records | | | | | | |
| 276 | | Connor Stout | 8th Overall | 1312 | \$1.75 | Lee Saylor Logging | \$400.00 | ✓ |
| 277 | ✓ | Collin Hammond | 9th Overall | 1217 | \$2.00 | Vinton County National Bank | \$2,434.00 | |
| 278 | ✓ | Michael Adkins | 10th Overall | 1319 | \$1.90 | Jackson-Vinton Farm Bureau | \$50.00 | ✓ |
| 278 | ✓ | Michael Adkins | 10th Overall | 1319 | \$1.90 | Linda Mcneal | \$200.00 | ✓ |
| 278 | ✓ | Michael Adkins | 10th Overall | 1319 | \$1.90 | Saylor Logging | \$1,253.05 | |
| 278 | ✓ | Michael Adkins | 10th Overall | 1319 | \$1.90 | CT Trucking Craig and Tara Saylor | \$1,253.05 | |
| 279 | ✓ | Nate Frisby | | 1081 | \$1.50 | EMZCO Inc. | \$1,621.50 | |
| 279 | ✓ | Nate Frisby | | 1081 | \$1.50 | Spurlock Ag Lime & Fertilizer, LLC | \$100.00 | ✓ |
| 280 | | Pandora Roseberry | | 1169 | \$1.90 | Jackson Implement | \$2,221.10 | |
| 280 | | Pandora Roseberry | | 1169 | \$1.90 | Jackson VFW | \$500.00 | ✓ |
| 281 | ✓ | Lacie Russ | | 1191 | \$1.90 | Lewis Drug Store | \$2,262.90 | |
| 282 | ✓ | Kendall Hammond | | 1220 | \$1.90 | Circle M Farms/Feed & Supply | \$2,318.00 | |
| 283 | ✓ | Kayla Kight | | 1250 | \$1.90 | Jones Stephenson Insurance | \$1,187.50 | |
| 283 | ✓ | Kayla Kight | | 1250 | \$1.90 | Service Central | \$100.00 | ✓ |
| 283 | ✓ | Kayla Kight | | 1250 | \$1.90 | The Lewis Agency | \$1,187.50 | |
| 284 | <u> </u> | Kyler Hudson | | 1294 | \$2.10 | Fannin Farms | \$2,717.40 | |
| 285 | <u> </u> | Devin Lewis | | 1321 | \$2.00 | Jackson-Vinton Farm Bureau | \$50.00 | ✓ |
| 285 | ✓ | Devin Lewis | | 1321 | \$2.00 | JVC Metals | \$2,642.00 | |
| 285 | V | Devin Lewis | | 1321 | \$2.00 | Jackson Ag Service | \$50.00 | ✓ |
| 285 | V | Devin Lewis | | 1321 | \$2.00 | Circle M Farms/Feed & Supply | \$50.00 | ✓ |
| 286 | V | Abby Lewis | | 1371 | \$2.00 | Russ Farm Equipment | \$1,371.00 | |
| 286 | V | Abby Lewis | | 1371 | \$2.00 | Union Stockyards | \$1,371.00 | |
| 286 | V | Abby Lewis | | 1371 | \$2.00 | Jackson Ag Service | \$50.00 | ✓ |
| 287 | <u> </u> | Haley Diltz | | 1416 | \$2.00 | Jackson-Vinton Farm Bureau | \$50.00 | ✓ |
| 287 | V | Haley Diltz | | 1416 | \$2.00 | Shoemaker Rentals | \$100.00 | V |
| 287 | <u> </u> | Haley Diltz | | 1416 | \$2.00 | The Lewis Agency | \$100.00 | ✓ |
| 287 | <u> </u> | Haley Diltz | | 1416 | \$2.00 | Vinton County National Bank | \$2,832.00 | |
| 288 | V | Jeremiah Frisby | | 1030 | \$1.95 | EMZCO Inc. | \$2,008.50 | |
| 289 | V | Abby Wood | | 1169 | \$2.05 | Holzer Health System | \$125.00 | ✓ |
| 289 | V | Abby Wood | | 1169 | \$2.05 | Michael Perkins | \$100.00 | ✓ |
| 289 | V | Abby Wood | | 1169 | \$2.05 | Stewart Electric | \$100.00 | V |
| 289 | V | Abby Wood | | 1169 | \$2.05 | Superior Marine Ways Inc | \$2,396.45 | |
| 289 | V | Abby Wood | | 1169 | \$2.05 | Coll Auto | \$100.00 | ~ |
| 290 | V | Blake Sheeter | | 1194 | \$1.80 | Jones Stephenson Insurance | \$100.00 | V |
| 290 | V | Blake Sheeter | | 1194 | \$1.80 | Lee Saylor Logging | \$2,149.20 | |
| 290 | V | Blake Sheeter | | 1194 | \$1.80 | Genevieve Davis, DVM | \$50.00 | ✓ |
| 290 | <u> </u> | Blake Sheeter | | 1194 | \$1.80 | Circle M Farms/Feed & Supply | \$100.00 | V |

| Sale Order | Co. Bred | Exhibitor Name | Special Placing | Show Wt. | Unit Price | Buyer | Buyer Amount | Is Add- on |
|---------------|-------------|-----------------|-----------------|----------|------------|-------------------------------------|-----------------|---------------|
| - Steer - | | ···· 99 records | | | | | | |
| 290 | ✓ | Blake Sheeter | | 1194 | \$1.80 | The Lewis Agency | \$100.00 | ✓ |
| 291 | ✓ | Triston Diltz | | 1233 | \$2.20 | Boggs Pest Control | \$2,712.60 | |
| 291 | ✓ | Triston Diltz | | 1233 | \$2.20 | Circle M Farms/Feed & Supply | \$100.00 | ✓ |
| 292 | ✓ | Zane Ousley | | 1261 | \$1.90 | Mark Porter Ford | \$2,395.90 | |
| 293 | ✓ | MacKenzie Lewis | | 1323 | \$2.10 | AM Commodities | \$2,778.30 | |
| 293 | ✓ | MacKenzie Lewis | | 1323 | \$2.10 | Jackson Ag Service | \$50.00 | ✓ |
| 294 | ✓ | Bradon Lewis | | 1331 | \$2.05 | Jim's Farm Equipment | \$1,364.28 | |
| 294 | ✓ | Bradon Lewis | | 1331 | \$2.05 | Jackson Ag Service | \$50.00 | ✓ |
| 294 | ✓ | Bradon Lewis | | 1331 | \$2.05 | Union Stockyards | \$1,364.27 | |
| 295 | ✓ | Gage Farrar | | 1465 | \$1.70 | Parker Corporation | \$300.00 | ✓ |
| 295 | ✓ | Gage Farrar | | 1465 | \$1.70 | Stewart Electric | \$1,245.25 | |
| 295 | ✓ | Gage Farrar | | 1465 | \$1.70 | Double M Construction | \$1,245.25 | |
| 296 | ✓ | Riley Adkins | | 986 | \$2.00 | G & L Farms | \$986.00 | |
| 296 | ✓ | Riley Adkins | | 986 | \$2.00 | Greenfield Vet Clinic | \$986.00 | |
| 296 | ✓ | Riley Adkins | | 986 | \$2.00 | Linda Mcneal | \$200.00 | ✓ |
| 296 | ✓ | Riley Adkins | | 986 | \$2.00 | Paula Stewart Oak Hill School Board | \$100.00 | ✓ |
| 297 | | Madison Johnson | | 1153 | \$2.05 | Boggs Pest Control | \$2,363.65 | |
| 297 | | Madison Johnson | | 1153 | \$2.05 | Genevieve Davis, DVM | \$100.00 | ✓ |
| 298 | ✓ | Carson Russ | | 1315 | \$1.90 | Southern States Point Pleasant | \$200.00 | ✓ |
| 298 | ✓ | Carson Russ | | 1315 | \$1.90 | Steve and Tammy Lorbach | \$1,249.25 | |
| 298 | V | Carson Russ | | 1315 | \$1.90 | Ed and Linda Scurlock | \$1,249.25 | |
| 299 | | Jenna Johnson | | 1531 | \$1.75 | Jackson Ag Service | \$50.00 | ✓ |
| 299 | | Jenna Johnson | | 1531 | \$1.75 | Leedy Angus Farms | \$2,679.25 | |
| 300 | ✓ | Joshua Lung | _ | 1127 | \$3.00 | GEM Beverages Inc. | \$3,381.00 | |
| 300 | V | Joshua Lung | | 1127 | \$3.00 | Genevieve Davis, DVM | \$50.00 | <u> </u> |